LightnessL* ; for surround mean grey Z (SRGB)

For separated surface colours in the rangeY3;8&

or the digital range 100/255=0,3%<100 it is valid:

L*5 =a (YY) [1] a=100)Y,=100;k=0,42=1/2,4
= b (YIYy)X [2] b=alf,/Yn)"=50; Y,=18

For Y=Y, it is valid: L* 7,=50.

Derivation of equation [2] gives with-k = 0,58:

S(L*)IBY = ¢ (YY) K [38] c= (b KIY,=21/18=1,17
or for the treshold(L* ;)=1

3Y =d (YY)t ¥ [4] d=Y,/(b K =18/21=0,86

For the surround lightne$s 7, = 50 with Y=Y,the threshold is:
8Yz, = 0,86.This threshold isndependenof k.
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